Dear Sir or Madam

I've got 2 issues with the new PIP assessment. Reducing the eligibility for the higher rate mobility element from being able to walk 50 meters to just 20 meters is too big a reduction. I read of an example of where someone had a 10 meter walk through their house to reach the door, then a 10 meter walk to her mobility car, and under the new rules because she was able to reach the motability car she would no longer be entitled to it despite not being able to walk any further.

I also think that there should be a third activity included in the new assessment, that of any equipment necessary for health that needs to be carried. If someone can't go anywhere without carrying bulky medical equipment then surely that's just as much an issue as not being able to plan your journey. When assessing the distance someone can walk the assessment should be done while they are carrying any equipment that is necessary for health.


Regards

*** ***

